Why not add a y?

Most of the real and theoretical scenarios that you will come across

o 2
will be in an equation. Ie: Y — ¢& + bc + C. The graph will
show aregion on the cartesian plane with the parabola being the
border of solution points.

Remember:
The parabola that y = az® + bz + ¢ is the [,)Ol/n d ry/
that divides the Cartesian plane into two regions. /

- When the inequality sign is < or >,the points on the boundary
are partofthe _ So [A and the lineis_ Jol/ t’j
- When the inequality signis < or >,the points on the boundary
are not part of the $ol” and the line is
Aoy
Solve Graphically:

-$&ﬁ‘fm?¥
@7/05 T—V%

C
é(o%) ~ 7 R
o v 4

- 5

[IAN

O
O
d

N


https://www.codecogs.com/eqnedit.php?latex=%255CLARGE%2520%255Ccolor%257Bmagenta%257D%2520y%253Dax%255E2%252Bbc%252Bc%250
https://www.codecogs.com/eqnedit.php?latex=y%253Dax%255E2%252Bbx%252Bc%250
https://www.codecogs.com/eqnedit.php?latex=%255Cleq%2520%255Ctext%257B%2520or%2520%257D%255Cgeq%250
https://www.codecogs.com/eqnedit.php?latex=%253C%2520%255Ctext%257B%2520or%2520%257D%2520%253E%250
https://www.codecogs.com/eqnedit.php?latex=%255CLARGE%2520%255Ccolor%257Bcyan%257D%2520y%255Cleq%2520(x-1)%255E2-4%250

Steps to graph a quadratic inequality in 2 variables:
- Complete the square
-> Find your center
& v =a(z —p)’ +q Left/Right by p,and up/down by q.
-> Find your next 4 points: Stretched or shrunk by a.
-> Use a test point or see which side of the line y is to find which
region is the solution set.
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https://www.codecogs.com/eqnedit.php?latex=y%253Da(x-p)%255E2%252Bq%250
https://www.codecogs.com/eqnedit.php?latex=%255Chuge%2520%255Ccolor%257Bblue%257D%2520y%253C-2(x-3)%255E2%252B1%250
https://www.codecogs.com/eqnedit.php?latex=%255CHuge%2520%255Ccolor%257Bred%257D%2520y%255Cgeq%2520x%255E2-4x-5%250

Reverse Engineefithe equation:
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